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Section - 1

Ol

Instructions for Q. 01 to Q. 03
Read the passage carefully and choose the correct options:
A red traffic light is a warning that means STOP. It is not safe to cross the road

until the green signal lights up. Start walking when green signal is on.

IOTITQITITIORNOIITITOU

In short, a red light is a warning to pay attention.

01. If Red : Stop then Green : ?
(1) Pay (2) Safe
(3) Walk (4) Warn

02. Find out the rhyming word from the passage for |night.
(1) eight (2) right
(3) slight (4) light

03.  Select the correct adjective from the given passage.

(A) Red (B) Green
(1) ‘A’ and ‘B’ correct (2) ‘B’ correct
(3) ‘A’ correct (4) ‘A’ and ‘B’ incorrect

04. Select the set which has different sound
(1) Camera, Castle, Cabbage, Cat
(2) Hat, Handle, Hammer, Hand
(3) Kitten, Kettle, Knife, Kingdom
(4) Mat, Map, Man, Mango

SPACE FOR ROUGH WORK
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RIGRIS

05. Look at the greeting card. Read the message and choose the correct option. i %
Dear Teacher, EE re;

We all love you and %; %

respect you very much. Eg

Thank you ;gg

(1) Happy Independence Day (2) Happy Teacher’s Day EE .A.%

(3) Happy Mother’s Day (4) Happy Diwali

06. Choose the mismatch pair from the given options.
(1) deer - deer (2) student - students
(3) mouse - mice (4) ox - oxes

07.  Select the correct option for the given word Lift :
(1) the wall (2) the farm
(3) the river (4) the box

08. Choose the correct pair from the given options.
ORI
Ve e i i
(1) ) 3) (4)

09. Choose the correct ordinal number which comes after Eleven.
(1) Tewflth (2)  Twvlfth
(3) Twelfth (4) Tweflth

SPACE FOR ROUGH WORK

0802 / Kannada Set-A 30f32 P.T.O.



[\ -L.. K o K o K o X ! X

(1) A : Please give us two full glasses of sugarcane juice.
B : But Mamma, [ want some ice in my juice.
(2) A : Give me some tomatoes
B : Where’s your bag ?
(3) A : Do you like roasted two corn-cobs?
B : Oh, I love them
(4) A : Have you tried these cakes?
B : This is a new cake shop

Choose the correct opposite words for ‘a’ and ‘b’.

a deep X ?
ugly X ?
(1) Top, Cute (2) Bottom, Sweet
(3) Shallow, Beautiful (4) Fountain, Cruel

Choose the correct option of the following statement which indicates the correct time

‘Rita wakes up early in the morning’

(1) 7 p.m. (2) 7 am.
3) 3 pm. (4) 12 noon

SPACE FOR ROUGH WORK
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TeioVe;

13.  Complete the box by choosing the correct action word for the given word.

Spinach
buy eat
(1) Iump (2) scribble
(3) wobble (4) cook
14.  The sign indicates
(1) stop (2) turn right
(3) go straight (4) turn left

15. Rearrange the numbers and make meaningful words.
v a f t 1 u r o e
1 2 3 4 5 6 7 8 9
(1) 321867549 (2)
3 32718659414 4)

3128765409
321768549
16. Solve the riddle

‘I use a spanner and

a screw - driver.

Who am [?’
(1) mechanic (2) potter
(3) milkman (4) farmer

17.  Choose the correct option for the given word : Shape
(1) high (2) low
(3) fast (4) circle

SPACE FOR ROUGH WORK
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20.

21.

18.

19.

Choose the correct ‘Motto’ from the given options

(1) We’ll all be quiet together (2) Give me a story book
(3) Protect all plants (4) Form groups of ten

Fill in the blank with the correct option.

He has bought .................... electric iron.
(1) the (2) an
(3) no article 4 a

Look at the diagram and choose the correct option.

Plants

|

! ! !

moss herb cactus
(1) stem (2) thorn
(3) vine (4) grain

Look at the picture and select the correct expression

(1) scared (2) proud
(3) shy (4) sleepy

SPACE FOR ROUGH WORK
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22. Look at the advertisement and choose the correct option it %
Sunny Biscuit Shop
Buy two cream Biscuit Packets! %[Z 0

Get one packet of chocolate Biscuit free! QIO

Price Starting from 10 Rs. for one packet. ore
ORI
(evrejieve;

Khari Biscuits, Cream Biscuits
Chocolate Cream Biscuits

Almond Biscuits

You can buy ............... packets of cream biscuits and get ................ packet of
chocolate biscuits.

(1 1,1 2 1,2

3 21 4 2,0

23.  How many capital letters should be in the given sentence.
1 am sopan bhosale
D 2 2 3
3 4 “ 1

24.  Choose the correct option of punctuation mark for underlined sentence.
A : What’s your name
B : Tell me your name, please
C : Chandrashekhar, You can call me Chandu

1 2 2) .
3) 4 !
25.  Choose the sentence which has correct punctuation marks.
(1) Oh no! what shall I do now? (2) Oh, no? what shall T do now?
(3) Oh, no! What shall I do now. (4) Oh, no! what shall I do now?

SPACE FOR ROUGH WORK
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| SECTION-II |

INTELLIGENCE TEST

26. In the word ‘EXTRAORDINARY’, which is the letter at the 4th place to the
right of the letter ‘O’?

H X 2 A
3 T 4) N

Q. 27 to 31 Direction : Find the odd term.

27. (1) Moon (2) Mars
(3) Jupiter (4) Saturn
28. (1) 9 (2) 65
(3) 26 4) 126
29. (1) 386 (2) 264
(3) 275 (4) 495
30. (1) Millenium (2) Second
(3) Century (4) Light year
31.
(1) (2) 3) (4)

SPACE FOR ROUGH WORK
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ABCDE|F GHTIIJ|KLMNO|P QRS ST|UVWXY QIO
IOTQIONN
[IOIQION

IOIQIONN
AN - 11 RIS

SO

=508 SO0
@6:{» 20C RIS
RIS
SO0

26. ‘=30 9IRS B SWEYNDH @ B ©I0T WOWNOD FCBFCH @8T CIRFTI ?

(3) 3 “ =

IONQIONN
[QIONOIO]

©3 27 00n 31 T BOowRN AR : Mown Feonm TT RS0,

27. (1) 2303, 2) =oong
(3) o 4 33D

28. (1) 9 (2) 65
(3) 26 4) 126

29. (1) 386 (2) 264
(3) 275 (4) 495

30. (1) ==F (2) Ao
() =W (4) dowder

& () (&

(1) (2) 3) 4)

31.

SPACE FOR ROUGH WORK
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Ol

IOTITQITITIORNOIITITOU

34.

3s.

32.

33.

In the letter series “V, M, E, T, R, L, M, E, S, O, L, M, E, T, S, Q, V, M, E,
O, L”, how many times M is preceded by E and is immediately followed by T?

(M 3 2 2
3) 4 4 1

Find the correct alternative to replace the question mark in the series given below.
4, 7, 13, 25, 49, ?

() 59 (2) 95
(3) 97 4) 69

In the given figures there is a particular sequence. Identify the sequence and find
the figure which will replace the question mark.

?

(1) 2) €) (4)

(6,8,7,3,5,9,4,2,1 )

In the number series by how much is the sum of prime numbers is more or less than the
sum of composite numbers?

(1) More by 10 (2) Less by 10
(3) Less by 9 (4) More by 9

SPACE FOR ROUGH WORK
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SIS
'17"17;

32.  ‘QR08, FRBweET, TODFTED, A, N, TTEH BIwR’ B B RNRTTY, st
©) £ e Q) > Q QIONIO!

WED, AR, RCTIIONYS ? TejioVlejie
ed ed wh
(1) 7 2) 6

33, 39NR RosT, WRGRODE, BBWTHDH WY, AT cdeer, BokRFOD ERHR ?

@ IONQIONN

QISTQIc

4,7, 13, 25, 49, ?
(1) 59 (2) 95
(3) 97 4) 69

34. 30T @5%033@ 2.0T3D ébgw RTIOT FTONT. STED MOTIER T z%d@qoja #@@Cﬁ@q o3
38 wda@z:b @omdﬁg{ wOiT@FO:bﬁ@Od ﬁmma ? '

?

(1) 2) ) (4)

s ( 6,8,7,3,5,9,4,2,1 )

RO B03TD, IRODFOND dmmo@ﬁ ne 2830, 236062 200308 A o@ﬂzsﬁeﬁ 23630, 23e022N03
STOOT i wEm 23, T ?

(1) 10 doz ek (2) 10 50w 3@
(3) 9 oom BRI 4) 9 oo T

SPACE FOR ROUGH WORK
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Q. 36 and 37 : Direction:

36.

37.

38.

Find out the mirror image of each of the following question figure from the alternatives
given.

Question Figure Answer Figure
NB dN | d\ Md| BM
(1) 2 3) (4)
Question Figure Answer Figure
Le e‘ e‘ Le‘ e‘
YA 74 ¢4 IRVA < EEVANEEVA ¢
(1 ) 3) (4)

In the given alphabetical series, which group of letters will occur at the place
of question mark?

2 MN? NMM? MNM? N? N
(1) MMNMM (2) MNMNM (3) MMNMN (4) MNMMM

Q. 39 and 40 : Direction:

39.

In each question a problem figure is held vertical above water surface. Identify its water
reflection and select the correct alternative.

245 245 542 5%2 O\

SPACE FOR ROUGH WORK
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OTUONN
ABCDE|FGHIIJKLMNO|PQRST|UVWXY QIR
S, %8,
RQIONQIO
3B 36 Tone 378 Fomn B
2 QIORQIH
ORI

%%ojo 502@033@0053 320U TET FEIRO)T) @owdail DOITEOD e:s%%ﬁ@?od nOTO8R0. L
36. TzeEe IS - SFIND Mo

) QIONQIOH

&L

IONQION
QIO

IOTQIONN
[QIOIQIO
SO0
[QIOIQIO

IONQIONN
[QIONOIO]

Z

(1) 2 (3) 4)
QBT - SFSNAW
=A =A Le‘ e‘

0 0 Q A 0
(1) 2) 3) (4)

38, #nw 133 SnOSah B3 BEED WY oINS WY A0S WP ?
2 MN? NMM ? MNM ? N2 N
(1) MMNMM (2) MNMNM (3) MMNMN (4) MNMMM

37.

&l
J
al
[CT

/
D

>

B3 39 Tone 40 T Feomen BREE

3nw, TIF 00T A0S Hoed LRWR ST FEWowR) Je0IY, Tert FEIRRTO
QOWITI) TWOIRFOD SFENPOT ROTIEXD

245 245 542 5¥2 O\
T (1) 2) 3) (4)

SPACE FOR ROUGH WORK
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40.

41.

42.

Question Figure Answer Figure
A O O A O
O \Y4 v O A
oz (D ) 3) 4

Find the correct alternative to replace the question mark in the given number
series.

13, 15, 19, 27, 2
(1) 35 (2) 27
(3) 32 4 30

CABCDE FGHIJ KLMNO PQRST UVWXY)

In the given alphabetical series, write the left adjacent letter, of the letter which
is at seventh place from the right end?

(1) E 2 T
(3) R @) Y

Q. 43 to 47 : Direction:

43.

In the following questions, first pair has same relationship between first two terms. The
same relation holds true for the second pair. Identify the relation and select the correct
alternative.

Bhakri : Jowar :: Butter :?
(1) Sugarcane (2) Raw Mango
(3) Milk (4) Bajra

SPACE FOR ROUGH WORK
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40. TZege UUZT - SFINRD

&L

A
O

o>
>0

O
v

|0

777777777777 (1) (2) (3) 4)

iSYejiele;
[QIONQLO

41, #nw, Toam, IR0, BIWHED Y, WER Fozl, AR ?
13, 15, 19, 27, ?
(1) 35 @ 27

(3) 32 4) 30

42 CABCDE FGHIJ KLMNO PQRST UVWXY)

R0edT BFTRRSONY, WOWHWOT DIFOR LFTT HBOR 03 €T3 [T 2
(1) E 2 T
3) R 4 Y

@5;43 0o 47 T BTN TRWR:

30, BINTY, FRTOSCL Tone HVBEICD THNYY, CINT 0ed FowOPT3RE BT
Oed Fowor [RTIN Tore TOSCL ITNYY, Ak, & Fowoym MOTER TF WHOD
AYTY, 2B cdeer; TOIRFODL SORO.

43. cira@i: By zﬁﬁm: 9
(1) 3, @ =3
3) wow €)) ?323;

SPACE FOR ROUGH WORK
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45.

46.

47.

48.

44.

Y

A\
=

(1)

|

O

)

AN

@D

)

9 (L
(1

4 : 18
(1) 19

26 : 38
(1) 52

Find the odd term in the given series.

3, 4, 6, 10, 22, 34

(1) 6

(2)
?

(2) 22

0 ?
(2) 80

) 10

g
UAS
3)

3) 18

(3) 48

(3) 22

(4)

4

(4) 27

(4) 64

(4) 34

SPACE FOR ROUGH WORK
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QIO
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QIO
IONXQIONN
ABCDE|F GHTIJ| KLMNO|P QRS ST|UVWXY QIONQIOH
IONQIONN
JQIONION
IONXQIONN
44. QIO

ORI
(] o e [ ] L X j
. oo . ? ORI
IORQIO)

RQIONQIOH
IONQIONN

QIONQIOH

IONQION

N [QIOIQIO
SO0
[QIOIQIO
SO0
[QIOIQIO

IONQIONN
[QIONOIO]

(1) ) 3) (4)

45.
{EE} : {?E}{EE} : Eii : >
SAl UAS
(D 3)

46. 4 : 18 :: 6 :?
(1) 19 (2) 22 3) 18 4) 27

(2) 4

47. 26 : 38 :: 48 :?
(1) 52 (2) 80 (3) 48 (4) 64

48.  3INS Roam, INAFDY, TWT TRBI, NI
3,4, 6, 10, 22, 34
(1) 6 2) 10 (3) 22 (4) 34

SPACE FOR ROUGH WORK
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49.

50.

Swati is eight years older than Kranti. The sum of the present ages of both the
girls is 44. Find the age of Swati eight years before?

(1) 52 2) 36 (3) 34 (4) 18

If Rat is called Cat, Cat is called Donkey, Donkey is called Dog, Dog is called
Deer, Deer is called Human, Human is called Rabbit, Rabbit is called Calf then
who is the most intelligent animal among them?

(1) Human (2) Calf (3) Rabbit (4) Dog

Q. 51 and 52 : Direction : Find out the figure which exactly matches with the question figure
from the four alternative figures given below.

51.

52.

53.

Question Figure Answer Figure
omo omo omo omo omo
w
(D 2) 3) 4
Question Figure Answer Figure

2 ©®®@
(1) 2) ) (4)

In a shop, there are few sacks of Wheat, Jowar, Bajra, Tur, Sugar. The number
of sacks of Sugar’s is twice the total of all other sacks. All other sacks of grains
are equal i.e. each of 12. Find out the total number of sacks in the shop?

(1) 60 (2) 144 3) 96 (4) 180

SPACE FOR ROUGH WORK
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QNI
IONQIONN

ABCDE|F GHTIJ| KLMNO|P QRS ST|UVWXY isYeiiel;

IONQIONN
RIS

49.  FIOH TOIDITOR 8 B[R TREIVWRY. @EOWT VNI [ORORY tIedewd 44
THE Q. BTV 0L VRS HRTO AGOH FODR), S, 98 2 QIO
(1) 52 ) 36 (3) 34 (4) 18 R

50. «9R zﬁéos @d&dd&, zﬁiﬁ 33 @Qdda, FS TOOW @d}){dd&, T[0T 203 @Qddo,
BB BoF, ebdagdo, SORFIN Bew @Q{dd&, RRog 300 ebsaqddo HOWT3 mgqéf%
WOREOB TS CIRFT 2

SRS

(1) =0, (2) 30 (3) Jro (4) Too RIS

B3 339907 51 Tene 52 T Feosen e
3083, B3R ToTPREIFIN TROT w%@oﬁaaﬁg{ TOTREOROT MOTOEXD.

51. ==9gs o33 - &AW
Olul®) Olul®) Olul®) Olul®) Olul®)
& gl &) & &
(1) 2) (3) 4)

52. =zege NZT - SFIND

53.  womd won@od, reeR, ¥eed, ¥, 2eM, ﬂ%p VRNG FOF) Weoness. SPYNTE
ﬁ%ﬁdoﬁa WEOTILD YVIT DY, TOZNY 2td), WeONVNOZ DTEO TR 0. ﬁi%doja WBeony
BTN PU9T DY, IFNRY WO BEOIRTD 12 BN, TIMWET BONRODYTOE 2ued),
weony Zoad, w:), ?

(1) 60 (2) 144 (3) 96 (4) 180

SPACE FOR ROUGH WORK
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54. Find out the total numbers of squares present in the given figure.

(1) 8 2) 9 3) 11 4) 12

Q. 55t0 59 : Direction:

In each of the following questions three words are given with some common relation.
So their group is formed. Select a word from the alternatives given which has the same
common feature of the given group.

55.  Sugar, Salt, Washing soda,
(1) Alum powder (2) Turmeric powder (3) Oil (4) Sand

56. Onion, Garlic, Potato,

(1) Sweet potato  (2) Radish (3) Beet root (4) Ginger
(T Y
Dl R
DR s XL D
K X j@ STO K
(1) (2) (3) 4)

SPACE FOR ROUGH WORK
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54.  3ne, wB00Y0D ) WRTINY T0sd, SR, ?

\®
Te
iSYejiele;
[QIONQLO

(1) 8 2) 9 3) 11 4) 12

B3, 3308 55003 593 Teom ZAUR :
BIch TBoYRY, B FAnER IRTRNG, BRrY fumy HR, A ©B0oT LR
20T THoR) FOIRTIDHR, & 0T HeoHR BRI, BARFCHALOT RO,

55. m’éﬁd, em—’% 2O30x BRCTD
(1) Ses8 (2) =R (3) 2%, (4) o8>

56. é&da@%, W3R, 203083
X4

(1) redzd (2) Spowon (3) e (4) 3008
O
57. C) /\ *\
S Q\/Q @\*Q
DR s S S
STO &S j@ ST STO

(1) 2) €) (4)

SPACE FOR ROUGH WORK
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58.
(D (2) (3) 4)
59. 3412, 4520, 2510,
(1) 1234 (2) 2020 (3) 5402 (4) 4416

60. Find out the number of triangles in the given figure.

(1) 14

AVANIVAN
Y

2) 11

3)

10

(4) 13

61. John and Mois are standing in a row. John is at 17t place from the beginning
and 8t from back. On the other hand Mois is 61" from the beginning then what

will be his position from back?

(1) 24

2) 19

3)

18

4) 17

SPACE FOR ROUGH WORK
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58.

59.

60.

61.

v
M

(1)

M
7

(2)

3412, 4520, 2510,

(1) 1234

(2) 2020

v
N

€)

(3) 5402

3083, 53800 2w, gBreINY Fosd, SR, ?

(1) 14

AVANIVAN
Y

2) 11

(3) 10

M

(4)

(4) 4416

(4) 13

T TONR RROWT® w070 FOTY, 0ETT. T FRROFRY WNoOV0T17H0I Tone
%00R0T 8 FoNWNT. TGS T WITY, V08T FROVF'T FmR0T) B00LOT
630D TNGT &S FRROFR) oDROT DTFODTNTIZS ?

(1) 24

2) 19

3) 18

4) 17

SPACE FOR ROUGH WORK
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62. Rashid is standing facing North East. He turned to his left 3 times in right
angles. Which of the following directions will be there to his right?

(1) South West (2) North West (3) North (4) North East

Q. 63 and 64 : Direction:

In the code language few numbers are denoted using symbols. Study them and find the
correct alternative.

Numbers | 0 1 2 3 4 5 6 7 8 9

Symbols | + * O |[1]| e \% X I @ A

63. A Subtract [ Multiply + Add x
(1) 12 2) 15 3) 6 4) 9

64. V Add || Subtract A Divide [_]
(19 (2) 8 (3) 2 4) 6

65. In the given figure, how many cubical boxes are there?

(1) 13 2) 28 3) 18 (4) 23

SPACE FOR ROUGH WORK
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62. COID> BT, D3R R0 RNB 0ITF. B FFWOR PLBREI, BT TO KR

STONTZ0 TOMOTT BN @ds WOWAR QB @%oﬁ O3RN ? e,
(1) ooz, (2) oI, (3) wvs3 (4) = =8,

o SRASR
T3 833008 63 Tone 648 FeoToN TRWR QIO
R IORQIONN

RIS

20T 03T RRODY, 0N Boomen FuR WINIZ ERRSINT. WY N e

VORI oﬁfaeﬁes DOIREOD e300, RIS

wodngd | 0 1 2 | 3 | 4 | 5 6 | 7 8
wasny | + | x| O |0 @ | V | x | | @ | A

O

63. A I L] Rogsel + 23edeed X
(1) 12 ) 15 3) 6 4) 9

64. V Seoewd || T A end [
19 2) 8 3) 2 4) 6

65. Bpw, STIODY, W), T, FIFE BTN 9

(1) 13 (2) 28 (3) 18 (4) 23

SPACE FOR ROUGH WORK
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66. In the year 2017. Republic day was on Wednesday then in the same year
Dr. Babasaheb Ambedkar Jayanti was on which day?

(1) Saturday (2) Sunday (3) Thursday (4) Friday

67. Observe the venn diagram carefully and choose the correct answer from the
alternatives for the questions given below.
What will be the difference between the sum of numbers that are only in rectangle
and triangle to that of the numbers only in circle and rectangle?

3

(1) 23 2) 5 3) 6 4) 2

68. The given figure shows the number of musicians in triangle, singers in rectangle
and actors in circle. Observe the figure and answer the questions.
Find the number of people who are singers as well as musicians and actors?

(1) 3 (2) 4 (3) 5 (4) 2

SPACE FOR ROUGH WORK
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66. 3 20173 FepIgEs OF WIFHT WoNBY. TGS 8 FRE Tl WIITHEW
©9023eTBICT RO08 ATNE AT WORTWBITD ?

(1) 223 (2) Sams (3) ocowed (4) 38w

67. Bnw, BT STSOOI)) BYRTPDETDN 08y FINS TINE GUZONER) ROTO8R0.
w% 3o ?@%@@5 RO $ERESTE. ‘&d)d efoémfo Tone @edo TFS, Fem©
PBREITA, QTVW WOIN, YIRS zﬁe@ewd@,@a [TYS SR, ?

SRS
[QIONOIOH

3

(1) 23 2) 5 3) 6 4) 2

68. 3IINI I @%@@Q@ &BREITE. FONEBTITT, PBREITE, MoOTT, W30FFTE) IwT
RO TOFRLONT. ©TWT QOETH BNRE TIoL YVBT MOTOIRD.

@5; FoNegET, MoIE Tone T 83 WRTD T BROOTITRT widd, F08, O, ?

(1) 3 (2) 4 3) 3 4 2

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

18! February 2016 was Monday. What was the day on 15t February 2010?
(1) Monday (2) Tuesday (3) Thursday (4) Friday

Select the number to replace the question mark.

14 49
18 36
16 ? 25
(1) 18 2) 15 (3) 30 (4) 20

In a code language CAP = 341, PAN = 417, RAN = 197 is written like this.
In the same language how will be the word CAR written?

(1) 917 (2) 391 (3) 471 (4) 734
In a code language 246 is written as 82448. How will 579 be written in the
same code language?

(1) 305690 (2) 356399 (3) 355699 (4) 356345

Select the correct alternative to replace question mark.

(1) 64 2) 152 (3) 224 4) 112

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

1 00 2016 Aeeowed @2y, Torwad 1 §wowd 2010 Sotd 03RS w8 93 ?

(1) Bnezozd (2) Srongemeo (3) nodowd (4) 38w
B, WBOD BT, WIdET cdeer; TSRO TOTIERD.

4 14 49

9 18 36

16 ? 25
(1) 18 (2) 15 (3) 30 (4) 20

2,003 AR0%edT LR DT = 417 ITI = 197, &I = 341 2030 WSCIITT.
TOTWTT &TIe LR, ‘WIS 5?%5;’% Tt B30T ?

(1) 917 (2) 391 (3) 471 (4) 734

2003 T0FedE PR 246 B3 m’o@%ojaag 82448 20T WI0INRTY. TIMTT T
PR, 579 &3 :309350335% Tert WB0TERMOTYTO ?

(1) 305690 (2) 356399 (3) 355699 (4) 356345
30y, $7E0NY, BF WIHCL FPTY, cinE Fosd, wTITTIOLOT BASREIR0T SOD.
(1) 64 (2) 152 (3) 224 4) 112

SPACE FOR ROUGH WORK
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74.  Grampanchayat has appealed the local people to contribute in the ‘Jalyukta Shivaar’
scheme. In this situation which action will be appropriate for Atharva?

Atharva will plan for an outing with family.

Atharva will understand the importance of the scheme and will happily
contribute.

Atharva will tell people about the drawbacks of the scheme.

Atharva will give excuse for an important work and will stay at home.

75.  While going to school you see a magic show going on. Your friend Subhash
insists you to see that. What will you do?

(D
)
3)

4

Leaving Subhash there, you will go to school.
Take along Subhash to school.

Tell Subhash the importance of studies and ask him to control the temptation
for magic show.

Complain to his parents that instead of going to school he keeps watching
magic show.

SPACE FOR ROUGH WORK
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74, ‘wWOOINT TODF B0 FLOTN MROTOLRANICRD FoNOBOR BTN SRS,
8 FoTPFRY, wBFSES oIS @ cdeen@REsd ?

(1) 33D BWoNTROOR IPTNE STIMBEY JRENLD JTFORITD.

(2) oI FRWIT BT, 9T FoZRERD0T FIITTTY, IZNOIRTOZ).
(3) ‘moodog 2T’ cdReRSONYOD BRERNYS) wION Bewm.

(4) ‘TIN 3T BT AT 0T TeP WS YVPCINTI0. R

G x|
SRS
[QIONQLO

75,  2dn Reerdmen SFoD e PRdNT B SEOT. Y WP, BRI WTI), IRCBELD
QRN SAT SREETS. & TRIODTY, VB BRENO 2

(1) RoyeadR o3 We), e TSR TReRT.

(2) RPRIR) HFEBRR TSR BRMIF.

(3) RoRAIR LERAT DOTZ, IYX WWNT SWE [AT FRWD [RBLD TERR.

(4) RPRI DOIR BN, BBID TSR WITE PTWNT B8 IRCTBITVT Q0T ©RNI
TOOTOR TeLOTI0.

SPACE FOR ROUGH WORK
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